
(1)𝐴 + 𝐵 + 𝐶 = 180° ∧ ∠𝐴 = 60°より、𝐵 + 𝐶 = 120° 

∴ 𝐶 = 120° − 𝐵として𝐶を消去する 

⟹ sin𝐵 + sin 𝐶 = sin𝐵 + sin(120° − 𝐵) 

= sin𝐵 + sin 120° cos𝐵 − sin𝐵 cos 120° 

= sin𝐵 +
√3
2 cos𝐵 − :−

1
2; sin𝐵 =

3
2 sin𝐵 +

√3
2 cos𝐵 

= √3<
√3
2 sin𝐵 +

1
2 cos𝐵= = √3 sin(𝐵 + 30°) 

ここで、0 < 𝐵 < 120°であるから 30° < 	𝐵 + 30° < 150°となる 

すると左図の𝐴 → 𝐵を動くのがわかる 

∴
1
2 < sin(𝐵 + 30°) ≤ 1 

⟺
√3
2 < √3 sin(𝐵 + 30°) ≤ √3 

⟺
√3
2 < sin𝐵 + sin 𝐶 ≤ √3 

 

(2) sin𝐵 sin 𝐶 = sin𝐵 sin(120° − 𝐵) 

= sin𝐵 (sin 120° cos𝐵 − sin𝐵 cos 120°) =
√3
2 sin𝐵 cos𝐵 +

1
2
(sin𝐵)! 

=
√3
4 sin 2𝐵 +

1
4
(1 − cos 2𝐵) =

1
2<
√3
2 sin 2𝐵 −

1
2 cos 2𝐵= +

1
4 

=
1
2 sin

(2𝐵 − 30°) +
1
4 

この時、0 < 𝐵 < 120° ⟺ 0 < 2𝐵 < 240° ⟺ −30° < 2𝐵 − 30° < 210° 



 よって、左図より 

−
1
2 < sin(2𝐵 − 30°) ≤ 1 

⟺ 0 <
1
2 sin

(2𝐵 − 30°) +
1
4 ≤

3
4 

⟺ 0 < sin𝐵 sin 𝐶 ≤
3
4 

 

 
 


